Explain why most physicists think that the double-slit experiment

A) is fully understood


B) will soon be understood  
C) will never be fully understood

D) doesn’t need to be understood


Concise: Draw a line through words that are not necessary and ideas that repeat. 

Clear: Place a question mark near phrases or words that are confusing. 


Complete: Give a check mark for each essential point and for the correct answer.

Correct: Put an X on each error or irrelevant information. 

On the left, give each question a mark out of 5. None of these are a 5/5. Why?

What are the two or three essential points need to be made?

· A is correct for just a few physicists, not most. For them, math is the same as understanding. 
· B is wrong. They do NOT feel that it will soon be understood. They do not expect a technological or theoretical advance. Quantum concepts like the Heisenberg Uncertainty Principle and measurement-disturbance place fundamental restrictions on what can be known. 
· C is correct. Quantum reality is fundamentally different. Most feel that it will never be understood because the behaviour at the quantum level is fundamentally different from our everyday experiences. All of the interpretations make the same predictions and so can’t resolve what is happening. All of the efforts over the past 90 years have only confirmed the quantum picture more strongly. 
· D is correct. The math works and has led to amazing technology. Physicists feel that it does not need to be understood because the mathematics can be used without ‘understanding’ to develop powerful technologies. They believe that we should ‘shut-up and calculate’ as N. David Mermin puts it. 
1) C 
Most physicists think that the double-slit experiment will never be fully understood. Physicists think this because when they try and measure a certain part of the experiment they change what is happening,..
Good use of measurement-disturbance but too wordy.
2) X B 
the double-slit experiment will very likely fully be understood within the next 30-50 years. At the current rate of advancement we should be able to observe the electrons in the double-slit experiment without disturbing them.
This is just plain wrong and provided no evidence. 
3) D 
The double-slit experiment doesn't need to be understood because s long as we can do the calculation, we can use it to develop new technologies.
The interpretations information was irrelevant to the argument.
4) X B 
The double slit experiment will soon be understood. Physicists understand the mathematical part which can provide accurate predictions. What happens to a moving electron between the slit and the screen still remains a mystery. There are many interpretations of what is happening. 
The answer is not supported by the arguments. 
5) X A 
The mathematics provides a complete description and is the most precise theory ever tested and has resulted in the development of computers, solar cells, MRI, lasers etc.
This is true, but only a few physicists would say that there is no mystery.

